
 Single Bed 
10199197



English
WARNING - Important Safety Information for Beds
IMPORTANT! Keep this manual for 
future reference. Read the 
instructions carefully before use.
Read Instructions First: WARNING! – DO NOT use this product without 
thoroughly reading the instructions for use beforehand.
Assembly Safety: Properly assemble all parts, ensuring fittings are tight 
to prevent any risk of entrapment or strangulation.
Maintenance: All assembly fittings should be checked regularly and 
retightened as necessary.
Missing Parts: DO NOT use bed if any parts are missing, damaged, or 
broken. Contact Jollyroom for replacement parts and instructional 
literature if needed. DO NOT substitute parts.
Heat Source Awareness: Be aware of the risk of open fire and other 
sources of strong heat, such as electric bar fires, gas fires, etc. in the 
near vicinity of the bed.
Avoid Suffocation and Strangulation: WARNING! – DO NOT place 
the product close to another product, which could present a danger of 
suffocation or strangulation, e.g. strings, blind/curtain cords, etc. 
Mattress Recommendations: WARNING – DO NOT use more than 
one mattress in the product.
The minimum size of the mattress should not be less than 1370x670mm, 
the thickness of mattress should not be thicker that 100mm.
Cleaning Instructions: Follow cleaning and washing instructions 
provided. 
To clean the metal parts use damp cloth and then dry them.
To clean the plastic parts use cloth, water, and soft detergent.
To clean the wooden parts by dry and soft fabric.
Maximum Weight: 50kgs
Recommended age: This bed is suitable for children from 18 months to 
4 years.
Complies with: BS 8509:2018+A1:2011.

1



Svenska
VARNING - Viktig säkerhetsinformation för sängar:
VIKTIGT! Behåll denna manual för 
framtida bruk. Läs instruktionerna 
noggrant innan användning.
Läs instruktionerna först: VARNING! – Använd INTE denna produkt 
utan att noggrant läsa instruktionerna för användning i förväg.
Säkerhet vid montering: Montera alla delar ordentligt och se till att 
beslagen är täta för att förhindra risk för fastklämning eller strypning. 
Underhåll: Alla monteringsbeslag bör kontrolleras regelbundet och dras 
åt vid behov.
Saknade delar: Använd INTE produkten om några delar saknas, är 
skadade eller trasiga. Kontakta Jollyroom för reservdelar och instruktioner 
om det behövs. Ersätt INTE delar.
Medvetenhet gällande värmekälla: Var medveten om risken med öppen 
eld och andra värmekällor, som elektriska infravärmare, gaskaminer, 
etcetera i närheten av produkten.
Undvik kvävning och strypning: VARNING! – Placera INTE produkten 
nära en annan produkt som kan utgöra en risk för kvävning eller 
strypning, t.ex. snören, persienn-/gardinlinor etc. 
Madrass - rekommendationer: Varning! - Addera INTE en andra 
madrass på produkten eftersom det kan leda till kvävningsrisk. 
Madrassens minsta storlek är inte mindre än 1370 x 670 mm, 
madrassens tjocklek bör inte vara tjockare än 100 mm. 
Rengöringsinstruktioner: Följ de medföljande rengörings- och 
tvättinstruktionerna. 
För att rengöra metalldelarna använd en fuktig trasa och torka av dem. 
Använd trasa, vatten och mjukt rengöringsmedel för att rengöra 
plastdelarna.
Använd en torr trasa för att rengöra trädelarna.
Maxvikt: 50kgs.
Rekommenderad ålder: Denna säng är lämplig för barn från 18 månader 
till 4 år.
Uppfyller: BS 8509:2018+A1:2011.

2



Dansk
ADVARSEL – Vigtige produktsikkerhedsoplysninger:

VIGTIGT! Gem denne manual til 
fremtidig brug. Læs instruktionerne 
grundigt igennem inden brug.
Læs instruktionerne først: ADVARSEL! – Bruk IKKE dette produkt 
uden at have læst brugsanvisningen grundigt på forhånd.
Monteringssikkerhed: Saml alle dele korrekt, og sørg for at dele sidder 
tæt sammen for at forhindre enhver risiko for at blive fanget eller kvalt. 
Vedligeholdelse: Alle monteringsbeslag bør kontrolleres regelmæssigt 
og efterspændes efter behov.
Manglende dele: Brug IKKE produktet, hvis det er ødelagt, beskadiget 
eller har manglende dele. Kontakt Jollyroom for reservedele og 
brugsvejledning, hvis det er nødvendigt. Udskift IKKE dele med 
uoriginale dele.
Bevidsthed om varmekilder: Vær opmærksom på risikoen ved åben ild 
og andre varmekilder som radiatorer, brændeovne og gaskomfurer i 
nærheden af produktet.
Undgå kvælning: ADVARSEL! – Placér IKKE produktet tæt på andre 
genstande, som kan udgøre en kvælningsfare, fx snore, ledninger, 
persienner, gardiner o.s.v.
Madrasanbefalinger: Brug IKKE mere end én madras af gangen. 
Madrassen skal ikke være mindre end 1370x670mm. Madrassens 
tykkelse bør ikke overskride 100 mm.
Rengøringsvejledning Følg de medfølgende rengørings- og 
vaskeanvisninger. 
Rengør metaldelene med en fugtig klud og tør dem derefter.
Rengør plastikdelene med klud, vand og mildt rengøringsmiddel. 
Rengør trædelene med tørt og blødt stof.
Maksimal vægtbelastning: 50kgs
Anbefalet alder: Denne seng er velegnet til børn fra 18 måneder til 4 år.
Overholder: BS 8509:2018+A1:2011

3



Suomi
VAROITUS – Tärkeitä ohjeita sängyn turvalliseen 
käyttöön:
TÄRKEÄÄ! Lue ohjeet huolellisesti 
läpi ja säilytä ne tulevaa käyttöä 
varten.
Lue ohjeet ensin: VAROITUS! – ÄLÄ käytä tätä tuotetta perusteellisesti 
lukematta käyttöohjeita etukäteen.
Turvallinen asennus: Asenna kaikki osat oikein ja varmista, että liittimet 
ovat tiukasti kiinni takertumisen tai kuristumisen välttämiseksi. 
Huolto: Kaikki asennusosat tulee tarkastaa säännöllisesti ja kiristää 
tarvittaessa.
Puuttuvat osat: ÄLÄ käytä sänkyä, jos jokin sen osista on vaurioitunut, 
rikki tai puuttuu kokonaan. Ota yhteyttä Jollyroomiin varaosien ja 
lisäohjeiden saamiseksi. ÄLÄ vaihda tuotteen osia toisiin.
Ole tietoinen sängyn lähellä olevista lämmönlähteistä: Huomioi 
avotulen ja muiden voimakkaiden lämmönlähteiden, kuten sähkö- ja 
kaasulämmittimien aiheuttamat riskit sängyn läheisyydessä.
Vältä tukehtuminen ja kuristuminen: Älä aseta tuotetta paikkaan, jossa 
lapsi voi tukehtua tai kuristua esimerkiksi nyöreihin, sälekaihtimien 
naruihin tai virtajohtoihin. Älä käytä sängyssä useampaa kuin yhtä 
patjaa. Patjasuositukset: ÄLÄ käytä useampaa kuin yhtä patjaa 
kerrallaan. Patjan vähimmäiskoko on 137x67 cm. Patjan paksuus ei saa 
ylittää 10 cm:ä.
Puhdistusohjeet Noudata annettuja puhdistus- ja pesuohjeita. Puhdista 
metalliosat kostealla liinalla ja pyyhi sitten kuivaksi. 
Käytä muoviosien puhdistamiseen kosteaa liinaa ja mietoa pesuainetta. 
Pyyhi puiset osat kuivalla ja pehmeällä liinalla.
Lapsen enimmäispaino: 50kgs.
Suositusikä: Sänky sopii 1,5–4-vuotiaille lapsille.
Tuote täyttää: BS 8509:2018+A1:2011.

4



Norsk
ADVARSEL - Viktig sikkerhetsinformasjon for 
barnesenger:

VIKTIG! Behold denne manualen for 
framtidig bruk. Les instruksjonene 
nøye før bruk. 
Les instruksjonene først: ADVARSEL! – Bruk IKKE dette produktet uten 
å lese instruksjonene for bruk grundig på forhånd.
Monteringssikkerhet: Monter alle delene på riktig måte, og sørg for at 
beslagene er tette for å forhindre risiko for fastklemming eller kvelning. 
VEDLIKEHOLD: Alle monteringsbeslag bør kontrolleres regelmessig og 
etterstrammes etter behov.
Manglende deler: IKKE bruk barnesengen hvis deler mangler, er skadet 
eller ødelagt. Kontakt forhandler for reservedeler og instruksjonsmanual 
om nødvendig. IKKE erstatt deler selv.
Forsiktighet rundt varmekilder: Vær oppmerksom på risikoen ved åpen 
ild eller høy temperatur, for eksempel varmeovner, gassbranner, griller osv. 
i nærheten av sengen.
Unngå kvelning: ADVARSEL! – IKKE plasser produktet i nærheten av et 
annet produkt, som kan utgjøre en kvelningsfare, f.eks. snorer, 
persienner / gardiner, osv.
Madrassanbefalinger: ADVARSEL! – IKKE bruk mer enn én madrass om 
gangen. 
Minimumsstørrelsen må ikke være mindre enn 1370x670mm, tykkelsen på 
bør ikke være tykkere enn 100 mm.
Rengjøring: Følg rengjørings- og vaskeinstruksjonene. 
For å rengjøre metalldelene, bruk en fuktig klut og tørk dem deretter. 
For å rengjøre plastdelene, bruk mildt rengjøringsmiddel og varmt vann. 
Rengjør tredelene med en tørr og myk stoffklut.
Maksvekt: 50kgs.
Anbefalt alder: Denne sengen er egnet for barn fra 18 måneder til 4 år. 
Overholder: BS 8509:2018+A1:2011.

5



M6X60

x3

FE

M6X90

x1
M6X45

x11x8x5 x16

DCBA

4

3

2

1

1

6



Dx8Ex8

Cx8

2

1

1

1.
E

M6X90

x8x8 x8

DC

7



3

Ex3
Ax3

Dx2

Ex2
Bx2

2.
E

x2 x5

D

M6X60

x2
M6X45

x3

BA

8



Dx1

Ex2

Ax2

Ex1
Bx1

4

3.
E

x1 x3

D

M6X60

x1
M6X45

x2

BA

9



＠ Made in China
Produced by: Jollyroom AB 

SÖRREDSVÄGEN 113, 417 29, GÖTEBORG. SWEDEN
CONTACT: +46313100000

． 


	01
	Sheets and Views
	模型


	02
	Sheets and Views
	模型


	03
	Sheets and Views
	模型


	04
	Sheets and Views
	模型


	
	01
	Sheets and Views
	模型


	02
	Sheets and Views
	模型


	03
	Sheets and Views
	模型


	04
	Sheets and Views
	模型


	空白页面
	空白页面
	空白页面
	空白页面
	空白页面
	空白页面
	空白页面

	05.pdf
	图纸和视图
	模型





